PAD : EPDM

173.00

SPECIFICATION

1.0PERATING VOLTAGE : DC 9.0~50V
2.WATTAGE : 60W

3.LED : 10OW (SEOUL SEMICONDUCTOR)
4 .LUMINOUS FLUX : 900%6 Im
5.LENS : ACRYLIC

6.WEGHT : 2.05Kg

7.VIBRATION - 8.6Grms

8.WEALTH PROOF & DUST RESISTANCE
9. TERPERATURE : -40C~85C
10.LIFE - 50,000Hr

11.1P RATING : |P68

BODY

152.00

LOCKING

=
—_— LENS : ACRYLIC
COVER : PC 3t

BOLT : SUS304 M10%25(NYLON)
NUT : SUS304 M10
WASHER : SUS304 M10%21

BRACKET : 3t
IRON(BLACK PAINTING)

BUSHING : EPDM

[VX] Vision X

INJECTION BOLT :
ABS BLACK / M8 BOLT

- 30.00 = PONER LEAD WIRE : ©@6.8

TUBE : @15+60

RECEPTACLE : DT04-2P-EQ04
TERMINAL : 1060-16-0122
=+ WEDGE : Wep

56100

| VX_TS_XIL-S6100

© Vision Motor Sports, Inc. All Rights Reserved.




